Number 3

STEP BY STEP
PUZZLE PAGE

Exercise you brain - try some of our word and number puzzles
Answers to last week’s puzzles are at the bottom of page 2.
We’ll send out the answers next week along with more puzzles.
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Riddle 3 Word
I add five to nine and get two. Wheel E R
The answer is N , E
correct, but how? ? 1 ‘ ‘
9+5=2 ??? Q M R
I M
Find as many words as possible using

the letters in the wheel. Each word
must use the central letter and at least
2 others. Letters can be only used once
for each word that you make. There’s a
9 letter word in the wheel.




The value of each square in the number pyramid
is the sum of the two squares directly below it.
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110 Word Square - missing
vowels
Fill in the grid with the vowels
67 20 at the bottom so that each row
and column contain a real word
31 | 12 .
F L w
11
23 25 | 6 1 R P
vl |n|
Sayings T N D
‘A bad penny always turns up’ C
If ‘a bad penny always turns up’, a bad person EEEEOO

always: a) reappears
b) disappears
¢) turns good

Answers to last week’s puzzles - week 2

Word Wheel

9 letter word: classroom

6 letter words: cosmos, macros, molars, morals

5 letter words: aroma calms clams crams loams looms macro
1molar moola moors moral roams rooms scams scram slams
4 letter words: alms arms calm clam coma cram loom mars
mass Ioor MmMoss roam room scam

3 letter words: arm cam moo ram

Figure of speech ‘Jack of all
trades, master of none’, is a
mild insult.

Number
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7 large boxes (7 x 8 = 56 boxes)
’ 33 ‘ 29 ‘ 14 ‘ 12|21 [ a ‘ 4 small boxes (4 x 10 =40 boxes
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8 + 6+ 15 =29 PIEINIS




